S5

XJ Front 3 Link Bracket Kit Installation Instructions

Thank you for purchasing our XJ Front 3 Link Bracket Kit!
Installation Notes:

e This product is designed to fit Jeep Cherokees 2 door or 4 doors 1984-2001 with an AW4
automatic transmission.

e The transfer case skid is designed to fit a NP231.

e This kit requires welding, automotive mechanical knowledge, and general fabrication skills, it
should only be installed by qualified individuals.

e This kit requires a minimum of 4” of lift with 3” of bump stop extensions.

e The factory lower frame control arm mounts and the left side frame front upper control arm
mount will need to be removed.

e The components of this kit will need to be painted or powder coated during installation.

Tools required:

e Drill

e 17/32” Drill Bit *if you do not have frame stiffeners installed

e  8.5mm Drill Bit

o 21/64” (.3281”) Drill Bit *only if you have frame stiffeners installed
e M10x1.5 Tap

e Various Hand Tools

e Jack

e Jack Stands

e Welding machine with the capability to weld at least %" thick steel
e Cutting torch, plasma cutter, or other appropriate cutting tool

AJM 5/4/23



Contents of each box

Bill Of Materials for B4AWK12787

QTY Part Number Etch Number Description
1 B4W188980 980 B XJ Front 3 Link Driver Gusset
1 B4W250958 958 B XJ Front 3 Link Crossmember Frame Bracket Driver
1 B4W250961 961 B XJ Front 3 Link Kit Upper Bracket
1 B4W250960 960 B XJ Front 3 Link Lower Bracket Driver
1 B4W250956 956 B XJ Front 3 Link Crossmember Main
1 B4W250959 959 B XJ Front 3 Link Crossmember Frame Bracket
Passenger
1 B4W188981 9818B XJ Front 3 Link Passenger Gusset
1 B4W250971 9718B XJ Front 3 Link Lower Bracket Passenger
1 B4WK12786 957 XJ Front 3 Link Crossmember Bottom Assembly
6 37C125HC8Y NA 3/8"-16X1-1/4" Hex Bolt Grade 8 Yellow
6 37NWSAFY NA 3/8 SAE Washer Yellow Zinc
6 FPCALFST616150 NA 3/8-16 Rivet Nut Insert .027-.150
6 43CNNEOQY/GC NA 7/16-14 NYLOCK
6 43C125HCS8Y NA 7/16-14 x 1.25
12 43NWSAFY NA 7/16 SAE Washer Yellow
6 .100C350BHF0Y/6921 NA M10-1.5 x 35mm Hex Flange Bolt Yellow Zinc
1 43CNFH8Y NA 7/16-14 Nut
6 94077A105 NA 3/8”-16 x 1-1/2” Hex Washer Thread Forming Screw

AJM 5/4/23




Step 1:
Park vehicle on a level surface. Support the transmission and remove the factory crossmember.

Step 2:

Drill out the forward most hole in the unibody with an 8.5mm drill bit and tap to a M10X1.5
thread.

Step 3:

Remove crossmember studs from the unibody threading two nuts together onto the stud.
Tighten the nuts together and turn the top nut to remove the stud.

AJM 5/4/23



Step 4:

Assemble the crossmember as shown below making sure it is assembled in the correct
orientation. Weld the bottom to the main crossmember.

Step 5:

Assemble the driver and passenger side control arm brackets as shown below. Once assembled
in the correct orientation weld the assembly together.

Driver

Passenger

AIJM 5/4/23



Step 6:

Install the driver and passenger side bracket assembly, and gusset onto the vehicle as shown
below. Mark the 3 holes in the gussets on each side of the unibody. Remove the bracket
assembly. Drill a 17/32" hole if you do not have frame stiffeners and move to step 7. If you do
have frame stiffeners drill a 21/64” size hole and move to step 8.

Step 7:

Using one of the 3/8” bolts, two 3/8” washers, and the provided 7/16” nut, as shown below,
install the six rivet nuts. Push the rivet nut into drilled in step 6. With a 11/16” wrench, hold the
7/16” nut and using a 9/16” wrench or socket, tighten the bolt until the rivet nut is fully
installed. The bolt will become very tight and there should be no wiggle or twist to the rivet nut.

3/8" Bolt 3/S™ Washers 7/16™ Nut /8" Rivet Nut

AJM 5/4/23



Step 8:

Reinstall the driver and passenger side bracket assembly and gusset to the unibody. Using 3/8”
thread forming screws for frame stiffener installation and standard 3/8” hardware for non-
stiffener installation. Leave hardware loose until crossmember has been installed.

Step 9:

Install the crossmember as shown below and tighten all the hardware.

Congratulations! You have finished the installation of the Barnes4wd
XJ Front 3 Link Bracket Kit.

Professional Services Disclaimer:

The content of all pages of this website (collectively, the “Website”), such as text, graphics, images, information and other material (collectively,
“Content”) is for informational purposes only. Any information furnished on this Website is not intended nor implied to be automotive advice
and is not intended to replace personal consultation with a qualified automotive service technician, mechanic, or similar automotive professional.

Barnes 4WD has not examined the Content for accuracy, timeliness, completeness, appropriateness, or helpfulness. Barnes 4WD does not
endorse any specific tests, products, procedures, opinions, or other information that may be mentioned on this Website. Your reliance upon
information and Content obtained by you at or through this Website is solely at your own risk. IN NO EVENT SHALL BARNES 4WD BE LIABLE OR
OTHERWISE RESPONSIBLE FOR ANY DAMAGE OR INJURY (INCLUDING DEATH) TO YOU, OTHER PERSONS, OR PROPERTY ARISING FROM ANY USE
OF ANY PRODUCT, INFORMATION, IDEA, OR INSTRUCTION CONTAINED IN THE CONTENT.

BARNES 4WD DOES NOT MAKE ANY REPRESENTATION OR WARRANTY, EXPRESS OR IMPLIED, AT LAW OR IN EQUITY, WITH RESPECT TO ANY
PRODUCT FEATURED ON THE WEBSITE, INCLUDING WITHOUT LIMITATION WITH RESPECT TO MERCHANTABILITY, FITNESS FOR ANY
PARTICULAR PURPOSE, VALUE, VALIDITY, OR ENFORCEABILITY, AND ANY AND ALL SUCH OTHER REPRESENTATIONS OR WARRANTIES ARE
HEREBY EXPRESSLY DISCLAIMED.

AIJM 5/4/23



